TOP ()
2
56.3 3.75 m| [2.7 m [152 m?
K | KA t
A [w/
mx m kcal/h
Comra [ 1 w3l gl wp g wp [P
W|OW-1(7.5 x 3.8]128.1| 0.9 [###| 4 101 5 127 7 177 11 278 | 21]1.1| 590
S1 101 127 177 278 590
N IW-1 7.3x 2.7[19.7| 2.8 [###| 2.2 | 121 | 2.2 121 2.2 121 | 2.2 121 [6.4| 1 353
11 121 121 121 121 353
mx m W/ W [w/ W |W/ W W/ W
0.0 0 0 0 0
S2 0 0 0 0 m/s
0.0 0 0 0 0 m/s
Qi m/ h
| 2 0 0 0 0 m*/ h
L, Wf Ql m®/h
W/ kcal/h m®/h
29 56.3 1,633 1,633 1,633 1,633
kcal/h LH W SH kcal/h /h
SH| 69 [LH| 53 [ 6 318 414 414 414 414 Ql m°/h
OA m®/h
7W/ x 0.6 x 56 236 236 236 236 gLs=0.29Ql
gLL=720QI x
13 318 2,283 2,283 2,283 2,283 LHW | SHW
S3
14
(SH LH  SH=S1+52+S3,LH=53) (1) 0 101 127 17 218 590
S sty @ | 318 2,405 2,405 2,405 2,405 353
1 11x105x 11= 127[1,1x 0.05= 1.16]1.1x 0.05= 1.16/1.1x 0.05= 116|1.1x 1.1=1.21
(SH LH ) (4)=(1)x (3) 0 129 147 206 323 714
(SH LH (5)
(SH LH ) (6)=(4)+(5) 0 129 147 206 323 714
(7) 129 147 206 323 714
SH LH ) 8)=)x 3)| 318 3,054 2,789 2,789 2,789 [ 427
9) 3,372 3,107 3,107 3,107 427
(SH LH ) (10)=(6)+(8)] 318 3,182 2,936 2,995 3,112 [ 1,142
(12) 3,500 3,254 3,313 3,430 1,142
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